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Bachelor of Science (Bsc-12/16/17)
2nd Year, Examination-2019

Time: 3 Hours Max. Marks: 40

Note:- This paper is of Forty (40) marks divided into
two (02) Section A and B. Attempt the
question contained in these sections according
to the detailed instructions given therein.
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Section-A (TUs—3)
(Long Answer Type Question) @€ STRII U3)

Note:- Section - A contains Three (03) long answer-
type questions of Ten (10) marks each.
Learners are required to answer any Two
(02) questions only. (2x10=20)
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1. With the help of neat diagram; describe the
construction and working of a Michelson’s
interferometer. Explain clearly the formation
of circular fringe in it. How you can use it?
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2. Describe the principle of biquartz device used

in a polarimeter. Show how you will use the
instrument to measure the specific rotation of
sugar solution.
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3. (a) Deduce Newton’s formula Xi1X2 = fifs for an
optical system.
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(b) The equivalent focal lengths of an Huygen’s

eye — pieces is 5.00cm. Calculate the focal
length of field lens.
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Section-B ( —g)

(Short Answer Type Question) (cTg SHNERCES)

Note:-
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Section-B contains six (06) short answer type
questions of five (05) marks each. Learners
are required to answer any four (04)
questions only. (5x4=20)
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Derive expression for longitudinal chromatic
aberration of a lens.
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A plane transmission diffraction grating has

40,000 lines. Determine its resolving power in
the second order (n=2) for a wavelength of
6000 AO.
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What are coherrent sources? Why two
independent sources of light of same
wavelength cannot show interference?
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4. What is a zone plate? Compare zone plate with
convex lens.
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5. Deduce the positions of the cardinal points of a

Huygens’s eyepiece and indicate them on a
diagram.
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6. Define Fermat’s principle and use it to deduce

the laws of reflection and refraction.

BH BT RIgd T 87 39! Ie8IdT I R

g 3[qaad & fad B wenfid S |

%k 3k %k kK

S-120/BSCPH-202/PH06 4 P.T.O.



